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¢ Section A: answer the questions on three of the passages. The three passages should be selected
from two prescribed topics only.

¢ Section B: answer one question.
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SECTION A [30 marks]

Answer the questions on three of the passages. The three passages should be selected from two prescribed

topics only.

1. The Homer epic:

(@)

120
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135
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Homer Od. 21.118-39

(@)
(i)

(iii)
(iv)

?H 9 y ¥ . ~ ’ 4
kal aw @potiv XAaivay Oéro powikdeooay
3pB0s dvaifas, amo d¢ Eipos 3LV Oér’ duwr.
~ \ / ~ \ / > /7
Tp®TOY eV TeNékeas oTiioey, dia Tagpov dpvas
waoL plav pakpiy, kal émt orabuny {vvey,
~ /
audl ¢ yatay évafer tagos & €\e mavras iddvras,
®s eDkdouws oThoe mwapos O od wd wor dmdmeL.
ot & &p’ ém oddov lwv kal Téfov merpiTie.
Tpls uév piw meAéuiler éploaacbal pevealvwv,
A\ A\ ~n 7 ) ’ ’ ~
Tpls 0¢ wmebike Bins, émieAmopevos 70 ye Ovud
e /4
vevpyy évraview dwoioTeloew Te aLdnpov.
74 / L B3 3 1A ’ \ / 9 4
kal vU ke &1 p° éravvooe Bin 70 TéTapTor AvEAKwY,
AN ’Odvoevs qvéveve kal éoyebev iépevov mep.
Tots & adris peréerd’ iepn s TnAeuayotor
‘@ mwomot, 1) kal émera kakds T €oopal Kal GKLKUS,
n¢ vedTepds el kal ol mw xepal mEmoda
b’ 3 5 / [24 ’ 4
avdp amapdvacbai, 0Te TIS TPOTEPOS X AAETNYY).
b 3> ¥ 3 e/ b} ~ Vg V4 7 9
aAN’ ayel’, ol wep éueio Bin mpoPepeaTepol €aTE,
’ 4 N ) / S 3
réfov meprigaate, kal ékreAéwuer Gebov.
*Qs elmav T6fov pev amo €o Onke xapale,
k\vas koA\nTiow éféorns cavidecaw
i n ’
~ ~ /4 ’
alrod & @kV Béhos kaljj mpooéxAwe Kopwvy,
|\ J 3 3 ¥ 9
ay O avtis kar ap’ €(er’ éml Opovov évlev dvéary.

Scan lines 122-3 (audl 8¢ .. omadmet). [2 marks]

How are lines 128-9 (kal{ vv¥ ke..iéuevdy mep) especially significant

for the plot? What do we learn about Telemachus and Odyssesus from
them? [3 marks]

Translate AN &yed’ . &eOlov (lines 134-5). [3 marks]

What do Telemachus’ actions in lines 136-9 ({2s El:m})v...&ve'arn)
suggest to the suitors? [2 marks]
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Homer Od. 21.396-415

@de 3¢ Tis elmeaker Daw és mAnoiov aAAov
“91 Tis Onnip kal émikhomos EmAeTo T ww.
7 pa v¥ wov Towadra kal adTd oikobi keiral,
\ & 3 3 ~ /4 e I \
7 8y épopuarar woumoéner, ws vl xepol
~ ¥ \ ¥ ~ b4 ) / »
vopd &vba kal évla kakdy Eumaios AANTYS.
"AX\os & al elmeoke véwy VmEpnYOpEdYTWY*
“al yap 8n Toowobray dvioilos AUTATELEY
@s o0Tds wore Todro duvjoerar évtavicacbar.”
Qs ap’ épav pvnoripest drap woAvunris "Odvaoeds,
) 2.9 9 \ /4 4 9 / \ ¥ /
alriK’ émel péya Tofov éBdoTace kal de mwavry,
¢ 3 3 N\ Mo 3 ’ 5 () ~
ws 87 avip PpopuLyyos émiaTaperds kal aoidys
midiws éra éw mepl kOANoTL X0pdiy
pnidiws éravvooe véw mwepl KOANomwe Xopdi,
[ 9 ’ P Y \ b4 Y7
aJras apporépwler évoTpedpes evTepor oLos,
&s &p’ drep omovdijs Tavvoey uéya Téfov 'Odvoaevs.
~ 3 ¥ \ \ 4 ~
debitepfi & dpa xeipl AaBov ﬁeapn?aro velipns
< 3 \ / b 3
7 8 Vw0 kalov deioe, XeADOVL €LKENT) avdNw.
pynotipow & dp’ &xos yévero uéya, maot & &pa xpas
bl ’ \ \ I'yd> % / /7
érpamero. Zevs 0€ peyal éxkTume onuara ¢aivwy:
yiOnaév v’ &p’ Emewra molvrAas dtos ‘Odvocevs,
14 e/ (2 / ? ’ Joo b 14
8t pa ol Tépas fke Kpovov wais aykvAounrew:

(1)  What has been happening immediately before this passage? [3 marks]
(i1)) In what ways do the suitors display their character in this passage? [2 marks]
(i) Translate al yap o0 ...évravioacbat (lines 402-3). [3 marks]
(iv) Scan lines 408-9 (&Vras .’ Qdvaoeds). [2 marks]

Turn over
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2.  Greek Tragedy:

(a) Euripides Medea 271-91
KPEQN

275

280

285

290
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(1)

(i)

(iii)
(iv)

Mn.

S \ b A ’ /
¢ Ty ockvlpwmov kal wooel Gupovperny,
Mndeiav, eimov THode yijs €€w mepav
/ ~ \ \ ~ #
¢pvyada, AaBoloay diroa cvv oavrij Tekva
kal pn Tt péAew: s éyo PBpaBevs Adyov
AN > L < k] A \ ’ ’
TOUO €ipl, KOUK AmeLuL TPOS OOMOUS TaAALY,
mply &v o€ yalas Tepudvwy €fw BdAw.
alat wavdAns N TdAaw AmWOAAvuaL,
éx0Opol yap éfaot mavra O kaAwy,
kovk &oTw Grns ebmpdaooTos €kPacts.
éprjoopal 08 kal kakds waoyove Suws:
/. Y o o b / ’
Tivos ' €kari yis amooTéNhels, Kpéov;
dédoika o’—ovder del mapapmioyew Adyovs—
~ 4
pn} pol i dpaoys wald GuKETTOV KAkov.
oupBaiAerar 08 moANL ToDde deluaros
codn wépukas kal kakdy moAGY [dpis,
~ \ ’ 9 \ b/ /
Aurrfj 08 AéxTpwy Gudpos éoTepnuévn.
/ 3 = ~ 3 ;
kAUw O amelkely o, &s amayyé\\ovai o,
Tov d0vTa kal yfpavra kal yauouuévny
dpacew Ti. Tabr olv mply wabelv Puidfouat.
kpetoooy O¢ pot viv mpds o dmexBéabar, yival,
A\ / Yy ¢ !/ 4
7 walbakiolevd Vorepov ueya orévew.

What has happened before this scene? [2 marks]
Translate éxfpot ...é€kBaots (lines 278-9). [3 marks]
Scan lines 282-3 (0€d0tLKkd .. Kakoy). [2 marks]

What do we learn about Creon from what he says in lines 282-91? [3 marks]
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(b) Euripides Medea 764-83

P ~ A L4 ~
Mn. & Zev Aikn Te Znvos ‘HAlov Te ¢pas,
765 vOv kaAllvikor TGy éudv éxOpby, Ppilai,
yevnodpueaba kels 6dov PBeBnkauer:
viv & éAmls éxOpovs Tovs éuovs Teloew dikmy.
obTos yap Gvmp 1) MAALOT EKAUVONEV
~ ~ /
Ayuny mépavrar TOV €udy BovAevpaTwy:
770 éx 1000 dvaydpeaba mpvpriTNY KaAAwy,
/
poAovTes dorv kal woliopa [TaAiados.
101 d¢ mavra Tdud oot BovAelupara
Aébws déxov B¢ umy mpos Mdovny Aoyovs.
/4 2 v~ : 4 9 ~ v 1/
méuar éudy TWw oikeTd®y lacova
775 és SYw NOely Ty éuny alrioopar’
poddvre & avrd palbakovs Aéfw Adyovs,
ws kal dokel pov Tavra, Kal kak@s &xew
yapovs Tvpdvvey ods wpodovs nuas €xeL
\ 4 b > \ ~ ) /
kal {Vupop’ €lvar kal kaAds éyvoouéva.
780 waidas d¢ pelvar Tovs éuovs altioouat,
oy ®s Aumodo’ av wolepias éml xBovos
9 ~ ~ \ 3 \ /
éxOpoia matdas Tovs éuovs kabuvBpicat,
AN @s ddhowor atda BaciAéws KTAVW.

(1)  Who has, in the scene before this passage, given Medea a route of escape

from her problems, and how has he done it? [2 marks]
(i) Translate woOAOYTL...KAAGS é’xew (lines 776-7). [3 marks]
(iii) Scan lines 778-9 (ydpovs... éyrwauéva). [2 marks]

(iv) What view of Medea’s character do you take from this passage? How is
your view intensified by what she says in the rest of this speech? [3 marks]

2206-2954 Turn over
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Aristophanes’ Comedy:

(a) Aristophanes Wasps 54-75
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Ll
bl
b

(i)

(iii)

(iv)

/ 7 ~ ~ \ 14
a. pépe vvv kareimw Tois Bearals Tov Aoyov,
3\ /2.3 Y ) e \ ~ 3 ~
oAy arl vmemav mpdTov atrotow Tadl,
~ ~ /
undev map UGV wpoodokay Alav peya,
/
pnd ad yéhwra Meyapdfey kexkAeppuévov.
npiv yap otk &t obre kapy’ éx ¢populdos
dovAw SuappimrTodyre Tols Oewpeévos,
010’ “Hpax)\ijs 10 detmvov éfamarapevos,
01’ adfis dvacelyoivdpevos Edpimidns:
_ : i i
000’ el KNéwv ' E\aure tijs Tixns Xapw,
adbis Tov “adTov dvdpa puTTOTEVTOMED.
AN’ €oTw Nuiy Aoyidov yrouny éxov,
IudY pev alTdv odyl delidTepov,
kopwdias d¢ Poprikis copdTepov.
éoTw yap Nty deamorns ékewool
drw xabeddwr, 6 péyas, ovml ToD TéYOUS.
obTos ¢uddrrew Tov marép émérafe v@v,
b4 / 174 4 \ 3~/
&vdov kabelpfas, twa Ovpale un .
véoov yap 6 marnp GAAOKoTov avlTol VOUEL,
v 00d’ &v €ls yvoly mwor’ o0d dv EvpBdior
y A ’ Y ¢ n 3 A\ ! .
el pn w000l Hudy: émel Tomalere.
"Apvvias pev 6 povdmovs ¢jo’ ovroot
elvar PpihdkvPBov adTdy: AN’ 0ldw AéyeL.

To whom is this speech addressed, and for what purpose?
Translate €Ty y&p...'re'yovs (lines 67-8).
Scan lines 72-3 (fjv 00d’ &v. Tomd(ere).

Explain the context and humour of Apwvias.. A€yet (lines 74-5).

[2 marks]

[3 marks]

[2 marks]

[3 marks]
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Aristophanes Wasps 824-44

Ba.

Bo.

@Dy,

Bo.

Bo.

2.

Ba.

Ba.

2w,

Bo.
Bo.

(1)

(i)

(iii)

(iv)

el Garrov ékabilov ov, Barrov dv dlknw
ékdAovy. du. kdAer vov, @s kdOnuar *yo wdAat.
/ b4 3 A ~
Pépe vy T alTd wpdTov eloaydyw dlkny;
/ /7 A / ~ 3 . P
Ti Tis Kaxoy Oedpake TGV év Tokia;
7 Opérra mposkadraca mpdny ™Y XiTpar—
3 / » < I\ 7/ 2 3 4
ETLTXES OUTOS® WS OALYyov M amwAeoas.
i ~
dvev dpvdpaxrov Ty dlkny uéAdels kalely,
A ~ ~ ~° ~
0 mpdTOY Uiy TV lepdr édalvero;
pa tov AL od wdpeoTw. b AN &y dpapav
3 ~ ’
avros koutoBuar 76 ye mapavriK’ Evdolev.
4 \ (o < \ < V4
7L WOTE.TO XpTi’; @s Oewwov ) Prhoxwpla.
/ LI /4 : : \ W ’
BaAN" és kOpakas. TOLOUTOVL TPEDEW KIVa.
7( & &oTw éredv; Sw. ob yap 6 Adfns dprivs
4 4 / 3 \ \ < 14
0 kbwy wapglas és Tov lmvoy vpapmdoas
Tpogalida Tvpod Sikeikny karedndokev;
Todr Gpa mwpdrov Tadlknua 6 mwarpl
eloakTéoy pow oV d¢ karnydpeL mapOY.
pa A ovk Eywy’s AN drepds ¢ricw kwy
4
kaTnyopioew, v Tis elodyn ypadiv.

10y vov &y’ adrw dedpo. Sw. Talra xpy mwolEly.
\ b4 ~ 7
TouTl T &oTL; @i xotpokopetor EoTtias.
Scan lines 828 (4 @péarra ... XUTpav) and 830 (AVEV ... KANELD), [2 marks]

What specific concern of Philocleon is referred to in the phrase
avev dpvpaxrov (line 830)? How is it resolved? [2 marks]

Explain the humourous situationin 09 yap 6 AdBns. elodyn ypadiy

(lines 836-42). What politically humorous point lies behind it? [3 marks]
Translate 7007 Z’ipa ..,'n'apév (lines 839-40). [3 marks]
Turn over
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4. Herodotus and the beginnings of history

(@)

10

15
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Herodotus 1.34.1-35.1

avrika O¢ oi eUdovtt
/ ; ~
éméaTn Ovelpos, 8s of T™ir dAndelny Epawe TV pmeANSvTWY
yevéobar kaxdy katd Tov mada. tjoav 8¢ 18 Kpolow dvo
waldes, 7@V oUrepos wev diépbapro, v yap O kwds, 6 d&
~ (3 /. ~ ~
érepos TGV HAKwY pakpd Ta wdyTa mwpdTOs' olvopa O€é of
5 ¥ ~ S ~
7y "Atvs.  Tobror On wy Tov "Arww onpalve. 7¢ Kpolow
0 Gvetpos, @s amoAéer pw alxun) odnpén BAnbévra. 6 S¢
9 J 4 pl /4 \ ¢ ~ ’ S 4 \
émelre éEnyépln kal éwvrd Ndyov &wke, karappwdicas Tov
s ~ ~
ovelpov dyerar ey T4 madl yvvaika, éwbiTa d¢ oTparnyéew
pw T6v Avddy ovdauy éri émi Towolro mpijypua éfémeue,
3 2 \ s \ A ~ . / ~ /
akovtia 8¢ kal dopuria kal Ta TolabTa WAVTQ TOLGL XpEwV-
TaL és wohepov vfpwmol, ék TOY Avdpedvwy ékkoploas és
4 ~
Tovs Qalduovs cvvévnoe, uq T( ol Kpeuduevoy TP maALdl
J ~
éuméan. éxovros O0¢ oi év xepal ToD mawdos TOY yduov
) / 9 \ v/ > O ~ b ’ N 3
amikvéerar €s Tas Sapdis avnp cuugopfi éxduevos kai ov
\ ~ 3N \ \ ~ 4 3

kabapos xetpas, éwv Ppvé uev yevefl, yéveos d¢ Tol Baot-
Anlov.  mapeNdov 8¢ olros és Ta Kpoloov olkia kara
vopovs Tovs émywpiovs kabapaiov édéero émkvpijoat, Kpolaos
0é pw ékabnpe.

(1)  What happens immediately before this passage? How does the passage

contribute to what happens next?

(i) éméorn dvepos (line 2). Suggest reasons why Herodotus mentions the
dream here but does not tell us what it was until later in the passage.

(iii)) What steps does Croesus take in the light of the dream?

(iv) Translate mapeAfav ... ¢kabBnpe (line 17-19).

[2 marks]

[2 marks]

[3 marks]

[3 marks]
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(b) Herodotus 1.53.2-54.2

@S O€ GTMIKOUEVOL €8 T QTETE -
PpOnoar oi Avdol dvébecav Ta dvabiuara, éxpéwvro Tolot
xpnornpiotot Aéyovress Kpoloos 6 Avddy 7€ kal dAAov
é0véwy PBacileds, voploas Tade mavriia elvar potva év
5  avlpamoiat, Tutv Te &fia dBpa Edwke TOY éfevpnuaTwy, kal
vy tuéas émepwtd el orparsinras éml [lépaas kal €l rwa
orparor avdpdy wpoocbéoro olppaxov. of pey Tadbra
émelpdTwy, TAY 08 pavrnioy duporépwy és TOUTO al yrduat
cuvédpapor, mpoléyovaar Kpolow, v orpareinrar éml
10 TTépoas, peydAqy apxiy pw karalvoew* tous 8¢ ‘EANpvwy
dvrarwTdTovs ovveBoiAevdy of éfevpdvTa pilovs mpoabéabad.
émelte 8¢ dveveixOévra 1o Oeompdmia émibero 6 Kpoloos,
vmepoldn Te Tolow Xpnornploiot, wayxv Te éAmicas kara-
Maoew iy Kdpov Bacilniny méuyras atris és ITvdo Ael-
15 ¢ovs dwpéeTar, mulduevos alTdy 1O wAfbos, kar dvdpa dvo
orarfipat ékaarov xpvool. Aehgol d¢ qvri TovTwy édoday
Kpoloe kai Avdolot mpopavryiny kal &rekelny kai mpoedpiny
xal &fetvar ¢ Povopéve alrdy ylvecbar Aekgov és Tov

alel xpovov.

(1)  What impression do you think the Lydians’ brief speech in lines 3-7
(Kpotaos 6 Avddv.. ovppayor)isintended to convey? Why should
they wish to make this impression? [2 marks]

(i) What two questions do the Lydians put to the oracle on behalf of
Croesus? [2 marks]

(ii1)) Translate Ae/\d)o\b d¢ .. alel xpo’vov (lines 16-19). [3 marks]

(iv) What reply did the oracle give to the Lydians’ questions? How did Croesus
interpret the reply? What did the oracle really mean? On the evidence of
this passage, what do you think was Herodotus’ attitude to oracles? [3 marks]

2206-2954 Turn over
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5.  Socrates portrayed by Plato:

(a) Plato Apology 22e6-23c1

‘Ex tavmoi 89 mjs éferdoews, & dvdpes Abnvaion,
moAAai pév dméxfeiai pot yeydvaae kai ofat yalerdrarar
kai Bapivrarar, dore moAdds Swafodds dn’ avTdV yeyo-
vévai, Gvoua 8¢ Toi7o Aéyeabfai, codds eivai- olovrar ydp

5 M€ €kdoToTE ol maplévTes TalTa avTOV €lvar codov G Gv
dAAov éfedéyfw. 10 8¢ kivduveder, & dvdpes, T SvTi 6 Beds
00dds eivar, kal év T xpNoud ToUTw TOHTO Aéyery, 87 %
dvlpwmivy codia dAiyov Twos dfia éotiv kai 08evds. kai
Paiverar TodTov Aéyew Tov Zwkpdm), mpookexpiohar 8¢

10 7@ éud Svépari, éué mapdderyua molovuevos, Womep Av

el eimor 81t “Odros dudv, & dvlpwmor, coddTards

éorw, Samis Womep Zwkpdys éyvwkev 6Ti 0vdevds d€ids

éor. ™j dAnbeiq mpds codiav.” a7’ odv éyw pév ém kai

viv mepuav {n1d kai épevvd katd Tov Bedv kai TV AITDY

15 kai Eévwy dv Twva olwpal coPov elvar kal émelddy pot wi)

Soxij, 7 Oed Bonbdv évdeikvvpar 6t 0k €0TL goPhFs. Kai

Umé Tavtys Tis doxodias olTe T TdV Tis WoAews mpdfal

wot oxoAs) yéyovev dfiov Adyov olite Ty oikeiwv, dAX év
mevig pvpia eipi da v Tov feot Aatpeiav.

(i) Exk ravmoei 8y mjs éferdoews (line 1). What was the enquiry
referred to here? How had it arisen and been conducted? What was its
conclusion? [3 marks]

(i1) For what reason, according to Socrates, does the god think that Socrates is
wiser than other men? [2 marks]

(iii) Translate Ta07’ oUv éyw _codov elvar (lines 13-15). [3 marks]

(iv) 8ta v Tod Beod Aatpeiav (line 19). What disadvantages does Socrates
claim to have suffered as a result of his service to the god? [2 marks]

2206-2954
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Plato Apology 24c4-e8

Dnoi yap 8% Tovs véovs ddikeiv ue Sadleipovra. éyd
8¢é ye, o dvdpes Abnvaior, ddiwkeiv dnut Mérnrov, 67
omovdsj xapievtilerar, pediws eis dydva kabiordas dvlpd -
movs, mepl mpaypudTwy wpoomoovuevos omovddlew kai
ki 8eafai wv 0vdéy TovTw TdTOTE éUéAnoey: ws 8¢ ToliTO
odTws éxer, mepdoopar kai vuiv émdeifad.

Kai poi dedpo, & Mérnre, eimé- GAAo Tu.1) mepi mAeiaTov
mou)j 8mws Ws BéATioToL of vedTepor EoovTal;

"Eywye.

10 67 vuv eimré ToUToLs, Tis avTods BeAtiovs moiel; 1jAov
yap 67t oloba, uélov yé ooi Tov uév yap diadbeipovra
éfevpdv, s Pijs, éué, elodyeis TovTolol kai KaTnyopeis:
76v 8¢ 07) BeAriovs morovvra {0 eimé kai pijvvoov avTois Tis
éoTwv.—0opds, w MéAnTe, 671 ovyds kai ovk éxeis eimeiv;
kaiToL 0¥k aloxpév oot dokei elvar kal (kavov Texurpiov o
07 éyd Aéyw, 87t oot 0U8év uepéAnkev; dAX eimé, dyalé,
Tis AUTOUS AUEIVOUS TTOLEL;

Oi véuo..

AAX 09 ToiTo épwTd, b PBéATiaTe, dAAa Tis dvfpwmos,
8aTis mpdToV Kai aUT TOUTO 0id€, TOUS VoMOUS;

Odrot, & Zdkpartes, ol Sikaoral.

Ilés Aéyeis, & MéAnTe; 0ide Tovs véous maidevew oloi 7€
elot kai BeATiovs moteiv;

MdAwora.

IIérepov dmavres, 1 oi uév avTdv, of 8’ od;

“Amavres.

(1) To what charge brought by Meletus is Socrates responding in the first

paragraph of this passage? What countercharge does Socrates make?

(i) Translate Kai wot ... éoovrat (line 7-8).

(iii) opds, w Mé/\'q‘re,”efval. (lines 14-15). What is Socrates’ attitude

towards Meletus here? What conclusion does he go on to draw?

(iv) IIérepov dmavres. oi &’ ot (line 25). Explain why Meletus is here in

difficulties, whichever answer he gives.

[2 marks]

[3 marks]

[3 marks]

[2 marks]

Turn over
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SECTION B [10 marks]
Answer one question from this section.
6.  Choose an incident in Odyssey 21 or 22 which you particularly enjoyed, and explain the reasons for
your choice.

7.  What, if anything, do we learn from the Medea about the status of women in classical Athens?

8.  On the evidence provided by either the Wasps or the Acharnians, discuss Aristophanes’ attitude to
political life in classical Athens.

9. Is Herodotus an entertainer or a teacher?

10. What, if anything, do we learn about the best way to live our lives from reading Plato? You should
refer to at least two dialogues.

2206-2954



